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m BCMEngFC6010 seat No: (5 15O C

B.Com. Semester - 6 (CBCS) Examination ,
March/April - 2019 \_)
ENGLISH LANGUAGE - 6 (CORE)

Time: 2:30 Hours Marks: 70

Instructions:

1. All questions are compulsory.
2. Figures to the right indicate marks.

Que-1 Write a short note. (Any one)

(A) Hameeda

(B) 4G Network _
Que-2 Write a brief answer of the following questions. (Any five)

(1) What was Abba’s illness and how did he die?
(2)What are the advantages of 5G over current networks?
(3)-Why did the manager feel alarmed?

(4)-What are the problems concerning 4G adoption?

(5) How will commercial space flight benefit big globle cities?
(6) Why did Rahat leave in a hurry?
(7) How did the Bhistis get their names?
Que-3 (A) Write a copy of advertisement on the following topic. (Any one)
(1) Cell phone
(2) Laptop
(B) Write a brief note on the following items with examples. (Any two)
(1) Notice
(2) Circular
(3) Minutes e - e
(4) Agenda
Que4 (A) Write a press release on the following event. (Any one)
(1) Release of a new AIDS Drug.
(2) Partnership between two companies.
(B) Translate the following paragraph in to English and Gujarati.

(1) B A ysRell Aa B, AidRs wal cual. olal Qdell Hopetl cAlAce] Usd Al B A
UidRs Rl Hopretl Ucate] (Al 2wt B. B Yool Bt of HlA A e @Astit 53
sl otofl. wtREL ded Anact HE @R Al 38 B. ¥ddoll Hslet sxcllRAstl WA
g l UL %BUA 3, AU Halot tlettaatil Rlelall SLA you N2 .

(2) If we unite we will progress. Without unity no nation can dream to progress. Our
nation has a variety of people who follow different religions but they have faith in

one nation whose name is “BHARAT”. That is why we all are called
“BHARATIYA”.
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BCMbmsCC6020 Seat No:
B.Com. Semester - 6 (CBCS) Examination
March/April - 2019
BUSINESS MATHEMATICS AND STATISTICS - 2 (CORE)

c

Time: 2:30 Hours ) Marks: 70
Instructions:

1. All questions aré compulsory.

2. Figures to the right indicate marks.

usi-1 (A)  ypued QcRgletl SlBURL 26 sl ¢, (04)

A Y QARG Htas wal (QAWL wegsN 40 A 100 B, 2ol 60%E 2ot (04)
603 UlLcli8l H2ell AU N (YHIRL clseli AxAgA 0,30 U2l Zoll Bruc=0.84)
(c) As lRs sWEML 500 QaweflAA A Yut Yo QAo U B, Aell  (12)
2212 9YRL 55 el YHIRl [Quetst 7 a1 B,
0 ull:
(i) 41 &l 62 ol ctRA ol Aotz Qeauelloll dvau,
Gi) 41 &l 2Nes oL Aoetottx @Qenellel vay,
i) 62 Al ay opat Anctaltz Qenelloll v,
oflt- Z = 2 U Z = 1 HIZ YR clsof AASO lafsN 0.4772 2o 0.3413.
wYcll
Ys-1 (A) A5 YR [@AcRQl W2 Q, = 73 WA 6 = 15 B, A (I) MY (1) Aeli 50%  (08)
Ydisloll UG et () yRR2 [QActet .
(B) s YMIRL [AcRRHl 31% BHA 45 s2cll A xl 92% BHA 64 52l 20 B. A (08)
@QdRael Heaus A y.[Q 90
olltd : (i) AR YHIRL d5ef AASN 0.19 Sl AR Z = 0.5

(i) wAR YHIRL clso] AASN 0.42 8l AR Z = 1.4
(C) 5 Geuleot slGUHL 51U 5cll 51O AAA WAS USNR 3.10,000 UA YR (04)

Quctet 3.2,000 B. 21 UdLR YHIERL AARRA B B, A 1ol Westi 2B UdlLR
Aadel 20% sAA2el ayni df uolz N,
| olltl: %R Youe dsef Axsn 0.30 S AR Z = 0.84,
11-2 (A) oAl Rl uoell ~tgL cnfeti AnOUAL W aetal U veusiellot qb-uz N, (06)
[t [ 2010 zo11 | 2012 | 2013 | 2014 | 2015 | 2016 2017
GeUleet | 1632 | 1557 | 1652 | 2100 | 2626 | 3120 | 3236 | 3562
8) lAM wRl wrell v = & + bx + ox2 cse] ocllosel 5 A x = | ddl x = 2 da, (14)
RUR Yoll uopuRd Bt Q.
X | -2 [ - 0 3

y1zso-3ﬁj

YA

(8)
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Yi-2 (A) AR yas wis k.

(06)

ad | @2 | Getall | Wy
2011 | 40 50 35
2012 | 45 55 35
2013 | 42 60 40
(2014 | 55 55 50
2015 | 60 70 45
8) ool B uzell AR wralgell Heedl weusicllel at-ue wA el Aw-Ue (14)
.
Al
o s1 | s2 | s3| s4
1 70 | 75 | 72 | 79
2 72 | 78 | 75 | 78
3 75 | 80 | 74 | 72
4 8o | 85 | 78 | 77

Us-3 (A)  OJQUHS Hoitlel el uMptcll oeus Aoitiotl weauel Yol At uHm Al

(07)

(B) As udlaudi 600 QaulRA Asl. Al BlsABMell vl HlsANoll v 5l A (08)
Qenelloti 16% ay B. WA Uoltell AvAl sltutt otk (AzneflA6{l vl scll 310 Ay
B, olluld Yollz BlsAell AvAL 88 BD. BA5AB ol UTlaUHE USOLcAl A IYRUHS

doit 0l

USNcl dRell Aol Al

Yl
yst-3 (A) ollAoll MRl urell el AQ (1) A UA B <A (1) o ol B <A, () A AUA B (07)
R cdl (IV) o Aol B A QU Aoltoll ysi2 2.

= 600, A = 240, B = 480, AB = 180.

(B) olA AR HBA U AsA uRA A& oA WE AURs e8| AN udlawni  (08)

@t BlsA | SlsIRA
udleuMi GuURAA GRecA | 800 200
- uRglld GRecu 150 50
URell ol usO 70 20
UUREI ua N 550 140

ys-4 (A) U0 ALEDs Red ugl uxnal.

(05)

(B) s UHRell AN ClalQetl MU 32, 38, 45, 20 A 50 B, W UHURM{ 3 se0i] AsA  (10)
dzett Yragll 0dt (el Aai 2 B, Al URSUH E(F) = 7 A 1 v(y) ugL

eﬂ(ﬁl. h

AUl
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ust-4 (A)
(B)

Que-1(A)
(B)

©

IQue-1(A)
(B)

©

Que-2(A)

(B)

iQue-z(A)

HRd aew [Eedot ual WiamA.

(05)
veell 2l uiy_@) LERENN Y (10)
ez | A | Qeslot 56 | Glesd atats | 2cleott BEIELN
__‘___ | 40 | 8 o 10 25
Il e 6 20 30
t . 4 12 08
ctutell 3R cll: AR Meals = 14, N = 100, -
ENGLISH VERSION 2 o\™}
Write any cight propertics of Normal Distribution, (04)

A normal Distribution has mean 40 and variance 100. Find limit which include exactly (04)
middle 60% of the observation.

Note:(Value of z is 0.84 from the arca under the normal curve is 0.30.)

An intelligence test is conduced for 500 students and received marks follows normal (12)
distribution. The average marks of the students is 55 marks and it’s standard deviation is
7 marks.
Find:

6)) The number of students having marks between 41 and 62 marks.

(ii) The number of students having marks less than 41 marks.

(iii) The number of students having marks more than 62.
Note:
(Area under the normal curve for z=2 and z = 1 are respectively 0.4772 and 0.3413)

OR

For a normal distribution Q; = 73 and 6 = 15. Find (i) Median (ii) Margin for central (08)

50% of the observation (iii) mean Deviation.
For a normal distribution 31% values are less than 45 and 92% values are less than 64. (08)
Then find mean and standards deviation of this distribution.

Note:
(i) Z = 0.5 when area under the normal curve is 0.19.
(ii) Z = 1.4 when are under the normal curve is 0.42.

The monthly average salary of workers working in a production house is Rs.10,000. It’s  (04)
standard deviation is Rs.2,000. By assuming that the monthly salary of a worker’s
follow normal distribution. Find the maximum salary of 20% of the workers having
lowest salary.

Note: Z = 0.84, when the area under the normal curve is 0.30.

From the following information find the trend and short time trend using three year (06)
moving average.
Year 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017
Production | 1632 | 1557 | 1652 | 2100 | 2626 | 3120 | 3236 | 3562
From the following information find Y = a + bx + cx” and also find value of Y when x = (14)
1 and x=2.
x| 2 (-1[{0]3
y | 1215 10| -3
OR
Find seasonal Index Numbers. (06)
Year | Winter | Summer | Monsoon
2011 40 50 35
2012 45 55 35
2013 42 60 40
2014 55 55 50
2015 60 70 45




(B) Find the short term trend and seasonal variation from the following information by using a 4)

moving average method. —
Seasons

Year ~g7 52 | S3 | S4 |
1 70 | 75 | 72 | 79
2 72 [ 78 | 75 | 78
3 75 | 80 | 74 | 72 | fir
4 80 | 85 | 78 | 77 _

: ’ n

Que-3(A) Explain meaning of association of attributes. Explain Yule’s method for studying 07 7

Association of Attributs. )
(B) 600 candidates of both sex appeared at an examination. T.he boys out-num:(?r:g;?:dgltzs 08y 2
by 16% of the total candidates. The number of candidates who pass nation. Fi ?1 I~
number of failed by 310. The number of boys who failed is 88 in this exam - Fin n
Association of Attributes between boys and success in examination.
OR . .
Que-3(A) From the following information find types of Association of Attributes by using proportion  (07)
method between. 1
(i) A and B (ii) o and B (jii) A and P and (iv) o and B
N =600, A =240, B =480, AB = 180. .
(B) Test the Association of Attributes for both boys and girls between martl

age status and success in  (08) l

examination.
Particular Boys | Girls
Candidates who Appeared Examination 800 200
Married candidates 150 50
Married and success 70 20 \
Unmarried and success 550 140
Que-4(A) Explain simple Random sampling method. (05)

(B) 32,38, 45,20 and 50 are the observations of a population. Obtain all possible samples of size 3 (10)
without replacement. Verify result E(¥) = ¥ and also find vV(®).

OR
Qiue-(A) Explain stratified Random sampling method. (05)
(B) Find the missing value and also find V(¥st). (10)
Group | Number | Size of sample | Sample mean | Variance of
stratified

| 40 8 10 25

I - 6 20 30

I - 4 12 08

Additional Information :
Population mean = 14, N = 100.
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1647510 BCMEcoCC6010 Seat No:
B.Com. Semester - 6 (CBCS) Examination
March/April - 2019
INDIAN ECONOMY - 2 (CORE)

Time: 2:30 Hours Marks: 70
Instructions:

1. All questions are compulsory.

2. Figures to the right indicate marks.

ysi-1 () kel sRAA oIl Gewesclleti 51260 agia, (10)
(@)  eRaANl s @staell otcll cguet wRuA. (10)
WAL
us-1 () euRcla gl A0l WistdlAste] Heet e 53, (10)
()  eRdetl ttusla walarel uR Al o l@ol uu wud. (10)
ysi-2(a)  elRdHl ollelt Wltetl GANe{l yHA cAut. (10)
() Qe YA AU ke Us1ReAl oA ¥RUAL. (10)
KHYdL
ys-2 cRclefl ol Q2o carurz AR@eAl Al 53, 2it2ud Ast A wa tirgla valagiell (20)
Jolu Ameadl.
ys-3 oteifla lQeti Attaloll AAl 53], eurctoll titula wallazel uR «ugisla ool 2 (15)
dawll.
WYl
ys-3 A Qell Yyt AU Ul ttuslal ualaRyl uR dofl AUAA il (15)
ysi-4 clRcHl BUAotoll REAN U HlerRA aglal, (15)
AUl
ysi-4 () QRAAA u1ef U, QAAG yE weudl. (08)
ys-4 (o) ol 2ot @A gsui Bl 2. (07)
- ENGLISH VERSION
Que-1 (A) Describe the causes for law productivity of Agriculture sector in India. (10)
(B) Explain the new strategy of agriculture development in India. (10)
Que-1 (A) Explain the importance of privatization in Indian Economy. (10)
(B) Explain the impact of fiscal policy on business environment of India. (10)
Que-2 (A) State the problems of small scale industries in India. (10)
(B) Explain the Foreign investment policy of Government of India. (10)
OR
Que-2 Discuss the new Foreign Trade policy of India and explain the relation of import-Export (20)
policy and business Environment.
Que-3 Discuss the instrument of monetary policy. State the impact of monetary policy on (15)
business Environment of India.
OR
Que-3 Explain the main provision of industrial policy and state its impact on the business (15)
| Environment of India.
Que-4 Describe the achievements and limitations of Indian planning, 15)
OR
Que-4 (a) Explain the meaning of Disinvestment. Describe the disinvestment process. (08)
Que4 (b) Explain in brief Niti-Ayog. ©7)
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BCMacgDS601A Seat No:
| B.Com. Semester - 6 (CBCS) Examination
‘ March/April - 2019
AUDITING AND CORPORATE GOVERNANCE - 2 (DSE-1)

‘Time: 2:30 Hours Marks: 70
| Instructions:

1. All questions are compulsory.

2. Figures to the right indicate marks.

Uad-1 Rasdl 2 oraeeidldl asell #ed §? Al gl ovaudl 1A Frasdidl asiuel 200 2iflzedl  (20)
syueldl oypual.
gL
U241 Rasdiq yedis4 72 §? a4t gl orpudl v Rasdici yeais4 i3 aifleadl syuoterd sreudl. (20)
-2 (A) AR UL 451 22 g7 Al AR 5L UReeAl sypudl. (10)
(@) Sl w51 213 2ifl2l genl eviudl. ) (10)
LUET]
-2 (A)  dlses Aed 9? delawe-ll aduell 213 sulauRidl ol exaudl. (10)
@) dls-einsil [Rod w3l (10)
Blast-3 A2 21 AL U1 YRl Al GURAL “A1RL AT awsyoll” AoLIAL Ad AHAL (15)
YAl
u24-3 1AL YEL AHNAL (15)
(A) U2 wigua (B) »lidl2 wdua (C) il syawseidl
24 g5l qull. (SIOuRL Q) (15)
(A) 5UR2 ot (B) Al o1t 3 uulare Yriuad
(C) AlAs 2uRuRriledL (D) 3oL vyl
ENGLISH VERSION
Que-1 What is verification of assets and liabilities? State the objectives and liabilities of an (20)
auditor regarding the verification of an asset.
; OR
Que-l What is valuation of an asset? Describe it’s objectives and state the liabilities of an auditor  (20)
regarding the valuation of asset.
Que-2 (A) What is divisible profit? State the factor affecting to divisible profit. (10)
(B) State the duties of an auditor regarding divisible profit in detail. (10)
' OR
Que—2 (A) What is dividend? State the provisions of companies act 2013 Regarding dividend. (10)
! (B) Discuss types of dividend in detail. (10)
Que-3 Describe the types of auditor’s report. State the meaning of “true and fair” Terms used in (15)
P it. '
OR
Que-3 Explain the following terms. (15)
o [A] Audit certificate. [B] Audit report. [C] Auditor’s liability.
Que-4 Write short note. (Any Three) (15)
! [A] Corporate governance. - [B] Green governance.

[C] Code of ethics. [D] Rating agency.
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BCMfm1DS602A Seat No:
B.Com. Semester - 6 (CBCS) Examination
}. March/April - 2019
‘ FINANCIAL MANAGEMENT - 2 (DSE-2)

| Time: 2:30 Hours ' Marks: 70

| Instructions:
5 1. All questions are compulsory.

! 2. Figuresto the right indicate marks.

S —

Lyt stelallet HSloll el A Ll U HA Aof Heeet A YSIA AHA AL (20)
VUl
oyser stedelle ygletl QY Bl [Qotd wl 5.
| oysz Ass AAletetell A WD UA Aot Fgl uR sEEA WA, (20)
| JOC
L oyse2 Ass WUELFUAell 51T A SLAERA YHALA.
| yay QR HALCetell 3Rl AR Mo WAL (15)
!
f vl
D oys-3 () GER Aol A 555 Aol A dsteldd (08)
(o) SecdH Aell (2uu) olQ wxsal. (07)
ysi-4 MGt Aetet A2A g7 Aol QRY uglell atdatz amgld 2l (15)
VUl
Ys-4  Sodoedl AAetoll StAERA AR HUlerR AL
ENGLISH VERSION
Que-1  Give the meaning and definition of working capital and explain importance and types of (20)
working capital.
OR
Que-1  Discuss in detail different types of sources of working capital.
Que2  Give the meaning of management of cash and explain objectives and functions of cash (20)
management.
‘ OR
Que2  Explain functions and benefits of cash budgets.
Que3  Explain objectives and importance of management of receivable. (15)
o : OR
o} Que-3  (A) Difference between Liberal credit policy and strict credit policy. (08)
s (B) Explain optimum credit policy. 07)
. Que-4  What is inventories management? Explain different types of methods of inventories (15)
g ] management. '
i g ; , OR
) Que-4  Discuss Merits and demerits of management of inventories.
Rk Rk Rk ok ko ook ok ok
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547510 BCMmacDS603A Seat No:
i B.Com. Semester - 6 (CBCS) Examination

’ March/April - 2019

MANAGEMENT ACCOUNTING - 2 (DSE-3)

Mme: 2:30 Hours Marks: 70
nstructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.”
Bl oy @l L31-3-20180l Awef W A o{lA yyot B. (20)
‘ ellolEd] 3. Retsdl 3.
863 AR €35 3.100 Al dat | 1,00,000 | RAR RctsA (?)
Aeltitcll 1,00,000 | 228 1,50,000
ot.oj5.ullq] 1,00,000 | EallEld 90,000
6%0ll BAAA 1,00,000 | AsS ?)
AQLER (?)
ysaal oitsl wal 20,000
- (?) (?)
atRuefl WRdl:-
(1) WS YRR ..o 60%
(2) cictduoueti eislo- RAR Resd YRR .......160%.
-’ GuRell WRl uell wg uAY ygl 54, ol Aot BNl 218l 53
(i) A6 J8etR (i) Yeltdl JJBletz (i) Als 222 Y8R (iv) AR €ls saugll.
it
@1—1 Yo @Qull.of cit.31-3-2018¢1l A%of W§ U]AY oA Yoy B, (20)
S AUAELS] 3. Retsdl 3.
: Ayl ?) | @R Rasd ?)
, UM ollHdd 1,00,000 | EUELRL 2,00,000
oL.oj5. ild] 50,000 | s 1,20,000
Aeleld (?) s (?)
i 10,00,000 10,00,000
- atRiefl wRdL-
B (1) @A ARl ... 75%.

(2) RAR Mesdl uA AYF| yul B,
(3) Q118 3.30,00,000.
Buetl wst uRdal AR @otdl uRel yeedl WBdl N ol Aoty oyt ARl 5.

L O s g ) ug AR )yl °.ll7lrl2 (v) BoletR omrtz (300
T Rt 2ue?)
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U#H-2

UH-2

Y4-3

. Al WA-2019¢9) AsS gleyy Qs
@all.of 3 WA oflof U 25,
o2l R urel, Belet

' ,000.
(1) c.01-01-2019U 3oy Ags-0ls 3.50

(2) BlELH AAUEGL

AQIoR-2018 2,00,000
Aw01R-2018 2,40,000
ooy lldl-2019 3,20,000
Yogdl-2019 4,00,000
H=l-2019 3,60,000

AR udet vlell AAGL USCR Aol IYBUTR 4:3:3 .

(3) e, 1 41-

% ®.
(4) SLAL olglell AARL UR ER 207% .
(5) 1@ @12 wall 3.15,00041 3.5,000 ULl D, @ WA ® A URA Ysary

(6) Ass AL 20% B. TAERL 17/, URetHl ayettt B, AELR WIlEl udlet u3y
Yysau 8.
(7) wHuel: (1) 1Sl ' . (2) AR e Wl '/, HIA.
Al
o200l Bl uzell 2L WA oy, 2l W3, 2019 W AsS ElFUA AR 52U
(1) oA 1Rl

W wildl | 23el @RAs | udat wrll
old1u1R-2018 1,50,000 | 10,000 21,000 Ry
flRAiR-2018 1,60,000 15,000 22,750
AeJUd-2019 | 1,80,000 20,000 26,750
Judl-2019 2,00,000 25,000 28,500
HA-2019 2,10,000 30,000 30,000

(2) 510 etgloll UScR UR €2 25%.
(3) 80% WAEl UA Q@ GuiR D,
(4) AgeH Ass odl 3.20,000 Ml Rwlel
Gefloll Qaua B,
(5) Gur Al uedloti, 1
Ysau B,
(6) uRAat vl % Wi Ysaly B,
(7) 1-1-2019¢11 A% Ass-0lg 3.25,000.
R. (@l 100% auqa 10,000 A
20180t Aofl Geutgotof] R off
AARL (3.50, AsH €1s) 3.3,50,00
USelR UR o§loll €2 .....254
HAMHI-HYRe gy 2.
slRullell uA&L vl

ol ®. vedl Ass oudl 350004 AR

el Bt cyena ®. Gue WA uehlotl et age

WGk 53 B,

A yoro D,
0.



Y4-3

us-4

AR A- (LUl 10%) 2/,

AU Wt vl et Usrell 10% (25% @AR)
QAR Ut Wl 3.21,000 (7000 EA?)

80% GeUleot -l AsHEls AUl Bud 10% u B,
90% GeUleot &R AsHEls ARl Bud 20% u B,
70%, 80% ¥l 90% GUleat aicll A URCldrtalle dieterust dautz 531,

Ul
s @] s uRadotallet victrus o3 Yool B,

@oatet 70% 80% 90%
Yeuel HICRUHLoL 1,40,000 | 1,60,000 | 1,80,000
Yeugl 1yl 70,000 | 80,000 | 90,000
SlRullell uAel wal 21,000 | 23,000| 25,000
Al udet vl 28,000 31,000 | 34,000
AAGL YA Wl 21,000 | 23,000 | 25,000

5Uell 8lEL 70%  BHAR 51212 B, Geulgotoli QgL wealell stetell Gud 3.3,50,000 D.

A AAGL Bucdul 8%oll ualdl srami A A 85% &Mcllell GURADL AU B, A A
QUL BHcul 12700 ©2Ad) s2cudi 20 A, 95% GeulEol &Hclell GUDL s B,

70%, 85% ol 95% GeUlEol &Ml HE URadatallet 2ielrunt da s,

o{lAotl wist wAawt 2017 A 2018 el B,

(1) o e32et 3.2,00,0000{ UScRell Hallotd] 3.2,10,00041 Q] el gl

(2) ol €120l 3.75,000 URMIRAotl Ml WDl
GuRell Rl urell Ass yeus wats Qe 53,

YA

Page 3 of g

s UAHELSL 2017 2018 Reasda 2017 2018
9. A2 3,00,000 | 4,00,000 | AR ResA 23,36,960 | 26,10,500
86Qdl A2 15,00,000 | 15,00,000 | s 6,60,540 |  4,91,800
AR QRan 30,000 40,000 | Ecllel 2,54,000 |  2,65,000
BAeu] 5,00,000 [ 5,00,000 | Gls 40,000 30,000
Al BAUGERA 7,25,000 | 6,35,000 | 3AeA] claiq 30,000 25,000
YR ellsos 75,000 --
ol.of Wld. 1,91,500 |  3,47,300
: 33,21,500 | 34,22,300 33,21,500 | 34.22.300
atRell WRA:-

(15)

(15)



ol B.

12017 ¥lol 2018
ys-4 ol QAsll Wt araa ad:20

018 Rasdl 2017 2018
T oaoedl | 2017 2 .
A0 e 4,00,000 | 3,20,
__ﬁLmo 4,50,000 | Welle2 A 200
,50, 0,000
o 0000 | 310,000 | A8t X S
Lol s 35,000 | 2,00,000 | 1,95,009
30,000 ' .
ol of8. 0l oo | 33000 | @G EL 40,000 15,000'
3l Aellncd | 270000 | Eaued 2,00,000 455,000
R ' 0
5; A 90,000 | 75,000 | ol 1,59,000 | 1,97,000 |
ARLEL ' |
2l 78,000 | 59,000 |
|
75,000 | 10,0000 _ -
bt 10,49,000 | 12,42,000 10,49,000 | 12,42,000 |
qtRlell WRdL- ,
. : 1G0 3.18,0000ti WEa, 2
(1) e €Ra2llet 3.80000t ASIEN 3.8,50041 AAEt ctall otelt AsIG 3

(2) Wellez UR Hidl e U 3.70,000 &cll. 5ARL LS 3.10,000 SC.
(3) a¥ €120t 3.10,0000{l wette H2lot?l 3.12,00041 AAC.
(4) axl et Slellses 3.40,000 YSAC,

AsS yals uas daur s,

ENGLISH VERSION ) |A 2019
- Que-1  Balance sheet of Nupur Itd. As on 31-3-2018 is under.

Liabilities Rs. Assets Rs.
Eq. Shares of Rs.100 each 1,00,000 | Fixed Assets ©)
Reserves 1,00,000 | Stock 1,50,000
P&L Alc. 1,00,000 | Debtors 90,000
6% Debentures 1,00,000 | Cash ?
Creditors )
Unpaid expenses 20,000
: ) 0 -3
L o Additional information:
i1i5 (1) Proprietary rating ........... | 60%
e (2) Long term fund to fixed assetretio ................ 160%
} From the aboye information, you are required to complete the balance sheet and compute
followmg ratios.

i (1) Current ratio (i) liquid ratio (i) Acid Test ratio (jv) Earning per share.
I Que-1 - Balance sheet of Sures

h 1td. As on 31-3 :
| S Liabilities %'@iﬁéﬂﬂ__v‘
? General sesnve @ g | T Assels T
' P&LALG 1,00,000 Debtors 2,00,000
creditor o Siock 1,20,000
| o — ] ank <Y,
! — | ? 3
?’ Additional informatiop: 10.00,000 \\lo%m—
| (1) Proprie ot |
{ P tary ratio Wi 0
{ 2 F’ ...... 75 /0.
,' (2) Fixed assets share capital
; (3) SalesRs.30,00,0q il are equal
From the aboye balan
? : . o0Ce sheet and doga: 1 ) ’
g%oN ;: };;()ﬁt ratlo (ii) Current ratioe tzi?)ﬁ]:ld i 3Sing data and calculate following ratloii- J
v ' Quid ratio  (iv) Dabtors ratio (on the bas
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From the following details, prepare Cash Budget for three months, January to march 2019 for (20)
Kenil Ltd.

(1) Cash and Bank on 1-1-2019 Rs.50,000.
(2) Estimated sales:
November-2018 2,00,000
December-2018 2,40,000

January-2019 3,20,000
February-2019 4,00,000
March-2019 3,60,000

(3) Proportion of materials, wages and variable O.H. to cost of sales is 4:3:3
(4) Rate of Gross Profit on sales is 20%.

(5) Fixed overhead expenses are 15,000 per month, which includes 5000 for depreciation.
Such expenses are paid in the same month.

(6) Cash sale is 20%. Debtors are collected in 1% months following the month of sale.
Creditors are paid in one month after purchase.

(7) Time lag: (i) Wages % month. (ii) Variable O.H. % month.
OR

Prepare Cash Budget for January to march 2019 from the following information. (20)
(1) Other information:
Month Purchases Opening Over heads
Stock
Novembor-2018 1,50,000 10,000 21,000
December-2018 1,60,000 15,000 22,750
January-2019 1,80,000 20,000 26,750
February-2019 2,00,000 25,000 28,500
March-2019 2,10,000 30,000 30,000

(2) Rate of gross profit on cost 25%.
(3) 80% of purchases and sales are on credit terms.

(4) Minimum cash balance of Rs.20,000 will be maintained. Short full is to be borrowed in
multiple of Rs.5000.

(5) Debtors are collected in 1 % month after credit sale, and creditors are paid in one month
after purchase.

(6) Over heads are paid in % month.
(7) Cash and bank balance on 1/1/2019 rs.25,000.

R Ltd. Produces 10,000 units at 100% capacity, the information of production in the year 2018 (15)
is as follows.
Sales (Rs.50 per unit) Rs.3,50,000.
Rate of profit on cost 25%
Proportion raw material and wages is 2:1.
Factory overheads:
Variable (10% of raw material) %/5.
Fixed ....cooveevnvinernniunnnnnns .

Office overheads are 10% of total cost (25% Fixed)

Selling overheads are Rs.21,000 (Rs.7,000 fixed)
At 80% capacity, selling price per unit talls by 10% and at 90% capacity, sellj i .
talls by 20%. ty, selling price per unit

Prepare flexible Budget at 70%, 80% and 90% capacity.

OR
Annual flexible Budget of S Ltd. is as under.
Particular 70% 80% 90% (13)
Direct materials _ 1,40,000 1,60,000 1,80,000
Direct Wages 70,000 80,000 90,000
Factory over heads 21,000 23,000 25,000
Ofﬂf:e overheads 28,000 31,000 34,000
Emg overheads 21,000 23,000 25,000
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Que-4

The company is presently working at 70% capacity. The sales volume of production at current price is

Rs.3,50,000.

If selling price is reduced by 8% the capacity can be utilized up to 85%, if its is reduced by 12% the

capacity can be reutilized up to 95%.
Prepare flexible budget for 70%, 85% and 95%.
The following are balance sheets for 2017 and 2018.

Liabilities 2017 2018 Assets 2017 2018
Pref. shares 3,00,000 4,00,000 | Fixed Assets 23,36,960 26,10,500
Equity shares 15,00,000 15,00,000 | Stock 6,60,540 4,91,800
Share premium 30,000 40,000 | Debtors 2,54,000 2,65,000
Debentures 5,00,000 5,00,000 | Bank 40,000 30,000
Current Liabilities 7,25,000 |  6,35,000 | Debenture 30,000 25,000

' Discount
Proposed Dividend 75,000 --
P&L Alc. 1,91,500 3,47,300
33,21,500 34,22,300 33,21,500 34,22,300
Additional information:
(1) During the year, machinery costing Rs.2,00,000 were sales at Rs.2,10,000.
(2) During the year depreciation written off amounted to Rs.75,000.
Prepare Cash How statement from the above information.
OR
Qiue-4  The following are balance sheets for 2017 and 2018.

Liabilities Rs. Rs. Assets Rs. Rs.
Share capital 4,50,000 4,50,000 | Plant machinery 4,00,000 3,20,000
Gen. reserve 3,00,000 3,10,000 | Investments 50,000 60,000
P&L Al. 30,000 35,000 | Stock 2,00,000 1,95,000
Capital reserve 26,000 33,000 | Bills receivable 40,000 15,000
Debentures - 2,70,000 | Debtors 2,00,000 4,55,000
Creditors 90,000 75,000 | Bank 1,59,000 1,97,000
Bills Payable 78,000 59,000
Prov. For taxation 75,000 10,000

10,49,000 12,42,000 10,49,000 12,42,000

Additional information:

(1) During the year, investments worth Rs.8000 were sold at Rs.8,500 and new investments of

Rs.18000 were purchased.
(2) Depreciation on plant written of was Rs.70,000 and provision for taxation was Rs.10,000.
(3) During the year, plant and machinery of Rs.10,000 were sold at Rs.12,000.
(4) During the year, Rs.40,000 were paid as dividend.
Prepare cash flow statement.
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. Seat No:
. - 9€mester - 6 (CBCS) Examination
March/April - 2019
COMPUTER SCIENCE - 6 (ELECTIVE)
Marks: 50

Tifne: 2:00 Hours

Instructions:

1. All questions are compulsory.
2. Figures to the right indicate marks.

Y#-1

Y#H-1

Yd-2

YH-2

YH-3

Ud-3

P

yd-4

(A) VBHI Buetet, gel-o€l 32t el Gelsanl uldet anandl.
(B) RAsast NeA 9j? Select Case....... End Select GELEWL URA AMestAl.

UL
(A) ARAvct Ne@ gf? ARAoictell WU Gelgal URA UHA.

(B) YEl-%El UslRoll RASA R2NARU] A2 U], AR Nested if....Else GELEQL UEcl
UMl

(A) gu A=A 9? %el-oel YsiRell uej @re atudl, For....Next QU GELeQL U(Ect Maptel.

(B) Left(), Trim() ol Mid() $52cd GELERQL UlEA U,
BT
(A) U D@ g? YEL-YEL Ysell fudf [Ere U, Do...Loop Until GELERQL U@l A=A
(B) Right(), Lcase() A\ Ltrim() $520¥ GELERQL AR uHostall.
(A) Pass by Value ial Pass by Reference Aol cAglelcd AHsA.
(B) Two Dimensional Array RURHE F?) GeleWL Ut AMAA.
UUl
(A) 53lct A2 A2@ Y7 5Ac B Qallr sl Ml2otl R AUl
() ®Rs (Static) AR slata®ls A2 Aol cigtelet %LUl
(A) (Rscallac) sMs s8d 23TolEDalel (Sequential File Organization) (AR ollt v,

(B) Open, Write# 3o\ Input# GELEW ARA Aol
AUl

(A) daL s A2d 9?7 Rsaselac (Sequential) $L8Coll ABs HSE WU AMAA

(B) Write# lol Print# 2ol dsteld AHAAl

s s ok o o sk ok ok ok ok ok ok ok ok ok ok ok ok ok ok

(07)
(07)

(06)
(06)

(06)
(06)

(06)
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Que-1

Que-2

Que-2

Que-3

Que-3
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Que-4
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ENGLISH VERSION 20\9 C,

(A) Explain various Data Types of VB with example. | 1

(B) What is Selection? Explain Select Case....End Select with example.
OR

(A) What is Variable? Explain Scope of Variables with example.

(B) List various types of selection statements and explain Nested If.....Else with example.

(A) What is a Loop? List various Types of Loops and Explain for....Next Loop with example.

(B) Explain Left(), Trim() and Mid() functions with example. -

OR

(A) What is a Loop? List various Types of Loops and Explain Do....Loop Until with
example.

(B) Explain Right(), Lcase() and Ltrim() functions with example.

(A) What is the difference between pass by value and pass by reference?
(B) Explain Two Dimensional Array with example.

OR
(A) What is Control Array? Write down steps for creating control Array.

(B) What is the difference between Static Array and Dynamic Array?

(A) Write a note on Sequential File Organization.
(B) Explain Open, Write# and Input# with example,
OR

le Operations of Sequential File.
(B) What is the difference between Write # and Print#?

(A) What is data file? Explain Basic

***********************

(07
(07)
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BCMac5EC601A SeatNo:
B.Com. Semester - 6 (CBCS) Examination
March/April - 2019
ACCOUNTING - 6 (ELECTIVE)

Time: 2:30 Hours :
Instructions: ekt 70

1. All questions are compulsory.
2. Figures to the right indicate marks.

Ysi-1 Udlot RWell As 2wl sgetdleul B, B wud Yo Bua et WAsA B. Asdell wa GuR  (20)
At 52 B. atvtal Hacdl Ass €A% Yy AGUA WsA B. Alvlell wall yuat AGU Y5 B.
oflAefl el urel awvit vit, 2uvite] AuIR viid, vl olglofsallet v Aate s,
dL1-1-209¢oll Bl : ¥\s 3.20,000, EalEL 3.4,000, gl{AR 3.40,000, Qat ASS 3.400

dl. 31-12-20%¢oll ot Sl2A : RS 3.9,000 U2l ASS 3.200

ad e@lotoll cAASIR 3.
uuital WA HIA 3,20,000
ALVUR URd SRE HIA 20,000
2AUERRA URel SRE HE 4,000
ateld WAl HAet AsS ¢0,000
GuR AL ?,00,000
Ass AL 3,¥0,000
2alelRal AU a2l w00
Sl aldiet el ¥00

apuitoll WAl : ety 3. 4,100, WUR 3.42,000, %&Ad WA 3.3,000, WsAc A2t AsS

3.900 witotell eilel WAA HE 39,200 glElUR UR 10% YURL 6N,

vl

o gudal AxHeHl As Al B, Awslea AAUBL MRl MM HEH USd? dxll 20% o8l
aaicld el Buad Huwl ARAA st B AU wulladl UAA i Ass Awbleddl As
Sl Wlcde vt ABUAL et A% erald A B, oAl @odl wesll yvat Bt

Qustai Az 5.
oL Ui, 2Uuile] AULR e otglofsllel Vi, Alal Bellelof vitg et Q2L Ass vid.

yat-1
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U#-2

dl.01-0%¥-2019

cl.31-03-04¢

(@oatet . 5
¢,000 9,200

fels 12,000 13,400
EalER 120 ?)
et Ass 1¥,000 (?)
Bhelite 9,600
il HIsAA M *.200
4oL AEFUA U 5 HE 200
A @l aldcl ey S
Ass Qe
AEHA URdl 53 M 300
Aol lERAN WA d2lel 1oo
S AR ¥4,400
URYRL Wl R¢0
URYREL W MR awwa WAt Ass 3s0
Hut AL Yseude aviel wal:

eUg Aa QA 1,500

WIR 2,000

Qg ol SO0

#slcd AR w00 ¥.900

TR w2 AUy AW i 219,

ustel flwofl suell @, of dl. 39-03-209¢el Ay

2013 Yxol allls Baed dauz 53\ -

Page 2 of g

ol sl GuR 3. WU 3.
Slala: - 9,140,000
10%{l ds Aet(ucUd) i 3 86.000
e 94,000 -
sHlot sl SR A
Ao ¥,40,000 .
el Al
9,140,000 -
ARLERL-E gl O4,000
Us0u Ay ' ¥4,000
ollid (Sl : 94,000
UARL §5 (31-03-9¢) ; 1,140,000
8l U R ) ,34,000
UR,
Ass — s Res 2U00 =
1,0,
cllesefl Wl (Rettatey) 000 )
¥y,
llosoll WA (eret wierg) 320 -
9,400
sl -
i ?,02,400
A Cloto] U ,
14,000

4 813 AY o1l A wad B, enaclla si. iRl - (200



sl aell vl 50,000 -
lyoll yage] Qe . 3,00,000
le? eug- . 30,000
eg-ARL Rals) 14,000 -
1ale 22,400 .
Asl UR caley 14,000
oASlefSAlet Wi (cl.01-0¥-109) - 3,414,000

4,14,000 2,14,000

auitell WGl
(1) ad efatet Retsdld oA Yool quid s Wdd B.

let-us51et 3.04,000, SEAL Ayl 3.2,00,000, A 3.50,000, $EIUR 3.44,000,
12ll«idl 3.4,04,000.

(2) st Rasdlell azuuidsll oudl u uad awd.

lot-Hslol 2%, SEUR WA AU 5% Halletdl 10%
(3) 52ARU R 3.¢0,000 s,

U cl
452 el ot flasell suell @.oll viictadl uell t.31-03-202¢ ot A% (Aol culeA WA
wdl 8.
@t 3. @otct 3.
| enllet WA Uslet 9,u0,000 | UR. QuIl EalelRl ¥3,c0U
| &R 3,94,000 | u2. Quidl AstelRl 5¢,3UY
e 94,000 | slluR 20900
i A 3,45,¢00 | URyRQL vl 93,¢U0
| 2234l (635 3.90 A Acll ¢,00,000 | AR Wwar WIEL 35,000
¢0,000 6(3.21?)
syl ds Aot 3,00,000 | ot.j.ilcllell %L cusl
(dl.01-0%-149) ¥9,390
2lerglid 3q,u00 | A5 Ras E,U0U
UAR A @l 52,3%0 | I Clloto] cll% ¢,000
AetoAs waR wilel ¥%,000 | UMl ol R AT wi] 12,940
52a21 ?s,a3¥u | fleredlef A 3,¢3,¥00
@ (A @5 39020 | UHURL el (cll.a-¥-19) UR,¥00
lz? aug ¥¥¥50 | ARSI otclofls0u0tH
(.09-0%-19) ¥9,100

A2l Bl teueoil a8 eurdla suddl uizt, 20436l Rotaus yero, s Fuwed Aar 53A:
(1) 38l Betsdloll azell sl U2 Uz uuR 2,

(2) ad e2fatet Suolla oflA yowol atitiolt Wl s pell,
U5let 3.93,400, A 3.¥5,00, A 3.1,08,900, {22 3.1¢,000.

(3) €2 At 15t U tcllollsRQL UM 3.44,0000( QR 2853 @8 el WA B.
WRYRRL WAL AR U AAclleflsRel e g2Rauof Wl 3.0,40040 WAL A B.
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Acll B.
) - (4) suslell actiee A2 Aug 1,950,000 SERAE A2 €28 340 Auell Ul

(2 (5) 5% ofl &ls Aot ¢ cnflat yectoll ctegetedl 8.
ua-3 QA suofl @. of dl.3‘l.-‘l?-?0‘i.6 oll A%e] u;g wrdy (1A H;Zi-ami - s
At ygl: s & &les Masdl 2,00,000
$0,000 bﬂéotél AR €35 3.9001l 5,00,000 | 18 %,¥0,000
o6l udell U eRWE AUl Rt 1,20,000
¥0,000 (eidl A2 €35 3.9001 ¥,00,000 | 2Ass A A5 Rets ¥,%0,000
ol§loj5lel Wi ?,£0,000
5% ol Bdlu ?,¥0,000
AQLELRL ¢0,000 1
10,00,000 ‘10%

SUoflofl el LML UGN olsd] U
(1) 20% AW 535l BlAses Ysaig (5201 €2 20%)
(2) dAl31-9R-"¢ell A ¥ AR HRAAARA 1 6oty A2 AU

(3) At AR el Wsal AME sletoll A2AEsA ¥ N2€ls 1T 2R 3.0 oll 3.4¥0ll ®Q
wdlecltoll s 2y,

(4) Bluefl 254 4% YRanel urd sl
Gl o AREESAR 51 oful? (3) Wi et dsell Gulal s

GuRell @atet wrell $uclen w3 %3 AU vl UA Gurel oltotellofl w2 ey
GlLEe] W§ URAY oloyld).

Bl
Y-3(0)  Hl et suell @.of ll.39-03-290 A¥e] W§ W3 ol Yosol B, (05,
FAUAELFA G 3, Retsq G 3.
€35 3.0 Acll gl elzws o, sl ResqQ R,06
A4l A2 aug 1,200 |
Alota(l Al iRy WY | A5 500
UMl Aol ¥SY | Eagld) 250
ot§lof5lol Wi 190 | Ass uA A5 Qs ¥¥Y
1R %0l Bolu] 940
UG FAUAELR U Raeyesaq 490
-\
3,330 3,330
tl (et suell A 25% 8Badl 4a o ‘i‘m‘x '

8%l €25 3.1004 Acll 1,00,000 5312 s
sl yel & uel fuell R ogoy 6Bad)

Yl
guoflotl AU BUHAY e,

y#-3(0l) R gy B, uiq eaus (@

R Asdell Qaqey Fasell sl
Page 4 of g



oAl (A1t well es5otl A2oll BERl Bitct otsl 631 R olo2 Buet (caes uRe)

2910 82 U Suell g2l €35 A A2 WA A A2 €25 404 ot D2Q s el o0
aadl 8. (\ )

a3 (s)  olRotl AASRA A Suollott WU Bl e,

(1) As susllell e @Aell 3.90000 As et 4,000 SBaAA Aol oA D, ATLEn]
s 53N UAs S3.220f 3.9000 As Al § SEAN A2 Ul s A ¢
54.08. QM1 [QewollsRa 53,
(2) A5 SUIR 3.cu00tl BBl WAsell tiecri 3.40 ol Al 100 SBal A2 L,
gy A uas Soqlld @ AU e 2019- 200¢ ol BB Aydlai 2det Regel Ratd wll B (0g)
Qett w2l Rauell ARt -20 3w EPS augiell Aroll 2ol cURc A2 vl oisdl 53,

(05)

tdlw Qo A6l vl | e Aell

As Aofl Avaul | R citdl
1-¥-2019 ol 213.0(l sl ¥,10,000 -| ¥,40,000
30-5-2049 olall 6(5.2R olelR wsa 4,000 - | ¥,04,000
30-¢-2019 ol As sl - 20,000 | ¥,UY4,000
1-12-2049 olell 8(3.9R ¢l wsa 14,000 -| ¥,90,000
R¢-2-209¢ ol als sl - 0,000 | ¥,40,000
39-3-204¢ AR ltsl ¥,60,000 ¥0,000 | ¥,40,000

Ya-4(A) X @l dl31-320a¢ ot A% YR Ucll ctlell SEadl AR Aeswil 51 2adl sl (07)

3.44,00,0000{l B. L AN SEadl Aell v w,00,000 ARell &cll. 21 GuRict Sucllon ygl
HOWAIHL 10% oll 3uicdULt 9,000 BAlu €35 3.100010 A5 Acll ULL &cil. €35 BARAR 3.10 o
As Aal 10 SEAZ Aul 3UidR Ucladl WA B. BAUR s 30 % 5= WA B.

SEA3 AR uRell saugll 0l

)
Y-y (A1) Baell QR - 20 EPs ol yud citetdl cvl. (10)
ya-¥ (o) sl vl : Q€S wARBLA s:ugll. (05)
ENGLISH VERSION
Q-1 Parin Stores has branch in Junagadh. H.O. sends goods to its branch at cost price, Branch Sells for  (20)

cash and on credit. H.O. pays branch expenses. Prepare branch A/C, branch’s trading A/C and
branch’s P&L A/c, from the following information.
Balances as on Dt. 1-1-2018 : Stock Rs.20,000, Debtors Rs.5,000, Furniture Rs.50,000.

Petty cash Rs.500.
Balances as on Dt. 31-12-2018: Stock Rs.7,000 Petty cash Rs.200
Transaction during the year:
Goods sent to branch 3,20,000
Goods returned to H.O. 20,000
Sales return 5,000
Cash received from debtors 80,000
Sales on credit 2,00,000
Cash sale 3,40,000
Discount to debtors 500
Bad debt written off 400

Branch expenses : Rent Rs.5,100, Salary Rs.12,000 Advertiseme h
’ > l&y ) nt ex (&} RS.3,000, Petty cas
sent Rs.700, goods burnt by fire Rs.1,200, Charge depreciation @10 02 :;ef;miture.
) - OR



; sl [ at Rajkot are sent from
on. has n braneh at o Rayjkot. All goods luflll'irlc;/(‘l;(l’()"rlf:!ll:: hmnc.;l i bunked dajr
0.1 : 1:{mn llmr;. ;xll-‘ 20% (invoico prico) and nll eash rece
head offico nt cost plus 2 '
1108 Account opened in a Bank at Rujkot.

) ailors prepare in the
' I'rom the following, |)III‘|ILIIIIIIH,l)lLlSJ:ll:::(; L os ACCOUt
) Branch Account, Branch ‘Trading and Profiti .

book of Hend Office :
i, Branch Debtor’s Account ang

Potty cosh Account. — "5{_,_4_2(”7 D.31-3-2018
Detail Rs. o Rs.
R — 9,000 7,200
Stock 12,000 13,500
Debtors 120 ?
Petty cnsh 14,000 /4
FFurnituro 27,900
Goods sent to Branch 1,200
Goods returned to 11LO. 200
Bed debts written of'by branch 2000
Cash Sales 300
Goods returned by customers 500
Discount allowed to branch debtors 45.500
Total Sales ’280
Petty cash expenses 360
Remittance to branch for petty cash )
Branch Expensces paid by 11.0. :
Rclnl. Taxes cte. 1,600
Salary 2,000
Bonus (o stafl 600
. Octroiete. | 200 4,700
Provide 15% Depreciation on Furniture.
0.2 Following is the trial balance of Prakash Light Electric Co.ltd., as on 31-3-2018. 20y 1
—___Particulars Debit Rs. Credit Rs.
Equity share capital - 7,50,000 4
10% Bank Loan (Sccured) - 3,00,000
Furniture 75,000 -
Land & building 2,25,000 -
Mains 4,50,000 -
Machinery 7,50,000 3
Creditors — Debtors 75,000 45,000
Preference share capital - 75,000
Reserve Fund - 1,50,000
Depreciation fund(31-3-18) - 1,35,000
Stores on hand 52,500 e B
Cash and Bank 1,20,000 y
Cost of purchase clcclricity(Rcliancc) 45,000 -
Cost of purchase electricity(Tata 7.500 -
power) ’
Investments
Interest on Bank Loan 2’(1)?888 )
Employee Welfare Expenses 60’000 . é
Sale of electricity i .
Meter rent ) 3,00,000
Rent, and taxes (local) 15.0 06 30,000
Cables > N
Interest on investmentg = s 006
P. & L. Alc (1-4. : J
Qizomﬁ-—\__.._\_; 3,15,000
———— 21,15,000 21,15,000
Page 6 of 8
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Additional Information: -k

(1) Additional in assets during the year : (9%

Land & Building Rs. 75,000; Equity share Capital Rs.2,00,000; Mains Rs.60,000
Furniture Rs.15,000; Machinery Rs. 1,05,000
(2) Provide depreciation on opening balance of Tangible asscts
Land & Building 2%, Furnitures and Mains 5%, Machinery 10%.
(3) Provide Rs.90,000 for Tax provision.
Prepare final accounts according to the provision of Indian Companics Act.2013.

OR
The Guijarat electricity company Itd. following balances were drawn on 31 * March 2018.
| Particulars Rs. Particulars Rs.
Land & Building 7,50,000 | Sundry Trade Debtors 43,905
Machinery 3,75,000 | Sundry Trade Creditors 68,355
Meters 75,000 | Furniture 20,100
Mains 3,16,800 | Sundry Expenses 73,950
Share Capital 90,000 Equity 9,00,000 | Solar power purchases 36,000
share each Rs.10)
6% Bank loan 3,00,000 | Credit Balance of P & L Alc
(01-04-17) 47,370
Transformers 31,500 | Bank balance 29,505
Salary and Allowances 62,340 | Interest on Bank Loan 9,000
Energy — Power Purchases 44,070 | Postage & Stationery Exp. 12,750
Taxation 26,145 | Selling of Electiricity 3,83,400
Stock of Stores etc. 37,020 | Depreciation Fund(1-4-17) 1,52,400
Meter Rent 44,460 | Reserve for Repairs and renewal
(1-4-17) 47,100

From the following additional information prepare final accounts according to the provision of
Indian Companies Act.2013.

(1) Calculate Depreciation on opening balance of fixed assets at the rate of 5%

(2) Company has done following expenditure during the year.

Building Rs.73,500; Machinery Rs.46,800; Mains Rs.1,07,700; Meters Rs.18,000.

(3) On every year a fixed amount of Rs.15,000 is appropriated to reserve for preparing and
Renovation A/c Sundry exepenses include Rs.7,500 which were spent for repairing and
renovation during the year.

(4) Authorized Share Captial of Company is divided into 1,60,000 Eq. Shares, each of Rs.10

(5) 6% Bank Loan is for 8 years on secured basis.

Balance sheet of Shyam Co. Ltd. as on 31-12-2018 is as under:

Liabilities Rs. Assets Rs.
Authorised capital 60,000 ordinary 6,00,000 | Freehold assets 2,00,000
shares of Rs.10 each issued and paid up
capital:
40,000 ordinary share each of Rs. 10 4,00,000 | Stock 2,40,000
P& LA/ 2,80,000 | Debtors 1,20,000
6% Debentures 2,40,000 | Cash & bank 4,40,000
Creditors 80,000 o

10,00,000 10,00,000

Following decisions are taken in the annual general meeting of the company :

(1) To pay tax free dividend at 10% (Tax rate 20%) '

(2) One bonus share is given for four shares held as on 31-12-"18

(3) Before giving bonus shares, Present share holders are offere
10 each at Rs.14 for each four shares held,

(4) Debentures are redeemed at 4% premium.
All shareholders have accepted offer of No.3
Pass necessary entries in the books of the com
the effect of above adjustments.

d right to buy one share of Rs.

pany and prepare balance sheet after giving

OR
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Q3(A)  Given below is the Balance Sheet of The Nihar Co. Ltd as on 31 20 m (05)
Linbilitics = Fixed Assets 2‘02?
oY Share Capital each of Rs.10 Fully {500 g |
y paid equity shares ’175 Stock 600 g
Security Premium 465 | Debtors 260 :
gc:,anLm}l\/lzcservc Ale 170 | Cash and bank balance 444 2
12 % Debentures . ;’38
Current liabities and provision 3330 3@ .
The Nihar Co. bought back 25% cquity shares on 1-4-2017. At the price of Rs.10. 2,00,000 8% I

preference share of Rs. 100 each were issued for this purpose Yvhich were fully subsqnbed and paig |
up. After buy back formalities were completed, the company issued 1 share fully paid bonus share
for every 3 shares held by the remaining share holders.
Make Journal entries in the books of the company. . )
Q.3(B) Navbharat chamicals Itd. issued right shares to its existing shares. But some share holders did not (05)
want to buy these shares and wanted to sell their right shares. o
You are required to calculate value of right shares from the information given below.
Market Price of shares (including interest) Rs.450. The company offers two shares for
every three shares held Rs. 175 per share.
Q.3(0) Pass the Journal entries for following transaction : (05)
(1) A Company’s Subscribed capital is made of 5,000 equity shares of Rs.100 each. It is
resolved that every share of Rs.100 each is converted into 6 equity shares of Rs.10 each

and 8 cumulative Preference shares of Rs. 5 each.
(2) A Company issued 100 equity shares of Rs.10 each in lieu of equity stock of Rs.950. i
Q.4(A) Palak Ltd. provider following details for the year 2017-2018 regarding changes in its (08)
equity capital. Find out Weighted average no. of shares required to calculate. EPS as per AS =20
Date Particulars No.of Buy back shares | Closing Bal.
shares » of Shares
1-4-2017 Opening balance 4,50,000 - 4,50,000 _
30-6-2017 | Issue of new equity shares 25,000 - 4,75,000 g
30-9-2017 | Buy Back - 20,000 4,55,000
1-12-2017 | Issue of new equity Shares 15,000 - 4,70,000 - d
28-2-2018 | Buy Back - 20,000 4,50,000 '
31-3-2018 | Closing Balance 4,90,000 40,000 4,50;000
Q.4(B) X Ltd. earning attributable to Equity shareholders is Rs.1 3,00,000 for the year Endingon  (07)

31-3-2018. On this date number of equity shares are 5,00,000. In addition to th
capital structure includes 10% convertible Debentures 9,000 each of Rs.100. E
entitled for conversion onto 10 equity

is Company’s
ach debenture is 1\
shares of Rs.10 each. Interest on Debenture is Subject to

30% tax. ,
OR \
Q.4(A) State the main aspects of AS — 20 Earning per share. (10)\:‘,
Q4(B) Write short note on : Diluted earning per share. ' (09)
FAF Ak o ook ok ko Ak sk o
.i
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